TOYOTA 4RUNNER 2020-2024 HOOD DEFLECTOR
HD 20G20 Installation Instructions / Instructions d'installation
KIT CONTENTS:

Q Round bumpons (2)
Bosses rondes (2)

Rubber bonded washers (4)
, Rondelles en caoutchouc (4)

Anti-abrasion film pads (8)
Tampons de film anti-abrasion (8)

Square expansion plug (4)
Bouchon d'expansion carré (4)

#6 x 5/8” Flat head screws (8)

“IECEII@ Vis 4 téte plate #6 x 5/8" (8)
Pins (8)
Epingles (8)

Metal mounting brackets (4)
Supports de montage en métal (4)

“L” Brackets (4)
Supports en « L » (4)

Clip bodies (4)
Corps de clips (4)

#10 x 5/8” Pan head screws (4)
Vis a téte cylindrique #10 x 5/8” (4)

Small bumpons (9)
Petits bosses (9)

Clip bodies with fingers (4)
Clipser les corps avec les doigts (4)

Hood deflector (1)
Déflecteur de capot (1)

HD 20G20 Rev0.23Nov23 Page 1 of 6

U



TOYOTA 4RUNNER 2020-2024 HOOD DEFLECTOR

1. Be sure that the hood is clean and dry inside and out.

Repeat for
other side

Assurez-vous que la hotte est propre et seche a
Uintérieur comme a l’extérieur.

2. Install the (2) Round bumpons on the outside and

(9) small bumpons in the middle of the hood as
shown.

Installez les (2) bosses rondes a I'extérieur et
les (9) petits bosses au milieu du capot, comme
indiqué.

ATTENTION: Bumpons must be installed on

the hood, not on the hood deflector. If the
bumpons are installed on the hood deflector, they

may wear through the vehicle paint.

ATTENTION: Les pare-chocs doivent étre
installés sur le capot et non sur le déflecteur de
capot. Si les pare-chocs sont installés sur le
déflecteur de capot, ils peuvent s'user a travers la
peinture du véhicule.

Looking at underside of the hood 3. Open the hood of the vehicle.

anti-abrasion film pad locations

_~ PN ~_ Peel and fold the large anti-abrasion film pads in
Al i L half over the edge of the hood, in the (4) locations
5 iIES ?cjﬁ;@o IE 7 S shown.
0 o= [ Al LD
J U U Ouvrez le capot du véhicule.

Décollez et pliez les grands tampons de film anti-
abrasion en deux sur le bord de la capuche, aux
(4) emplacements indiqués.

L 3M Anti Abrasion Film Pad

HD 20G20 Rev0.23Nov23 Page 2 of 6



TOYOTA 4RUNNER

2020-2024 HOOD DEFLECTOR

ﬂ Square Expansion Plu

Ensure rubber side of rubber/ :

bonded washer contacts metal
mounting bracket.

HD 20G20 Rev(.23Nov23

4. Insert square expansion plugs into the (4) holes in
the hood inner as shown.

Insérez les bouchons d'expansion carrés dans les
(4) trous a l'intérieur de la hotte, comme illustré.

5. Position the metal mounting brackets over the
hood edge (at the same (4) locations from the
previous step) by aligning the hole in the bottom of
the metal mounting bracket with the round hole in
the square expansion plug.

Positionnez les supports de montage métalliques
sur le bord de la hotte (aux mémes (4)
emplacements de l'étape précédente) en alignant le
trou au bas du support de montage métallique avec
le trou rond du bouchon d'expansion carré.

6. Secure the (4) metal mounting brackets by
inserting the #10 x 5/8” pan head screw through the
rubber bonded washer and into the square
expansion plug.

Fixez les (4) supports de montage métalliques en
insérant la vis a téte cylindrique #10 x 5/8" a travers
la rondelle en caoutchouc et dans le bouchon
d'expansion carrg.

Ensure that the rubber side of the rubber bonded
washer is contacting the metal mounting bracket.

Assurez-vous que le coté en caoutchouc de la
rondelle en caoutchouc est en contact avec le
support de montage métallique.

Page 3 of 6



TOYOTA 4RUNNER

2020-2024 HOOD DEFLECTOR

HD 20G20 Rev(.23Nov23

Page 4 of 6

Place a pin through each of the (4) middle holes in
the hood deflector and into the clip bodies as shown.

Note the orientation of the clip body relative to the
edge of the hood deflector.

Placez une épingle dans chacun des (4) trous
centraux du déflecteur de capot et dans les corps
des clips comme illustré.

Note l'orientation du corps du clip par rapport au
bord du déflecteur de capot.

Keeping all (4) pins and clip bodies in place, lower
the hood deflector onto the hood and align the (4)
metal mounting bracket holes with the holes in the
clip bodies.

En gardant toutes les (4) broches et corps de clip en
place, abaissez le déflecteur de capot sur le capot et
alignez les (4) trous du support de montage
métallique avec les trous des corps de clip.

Insert a #6 x 5/8” flat head screw through each of

the (4) metal mounting brackets and into the clip
bodies.

Insérez une vis a téte plate n° 6 x 5/8" dans chacun
des (4) supports de montage métalliques et dans les
corps des clips.



TOYOTA 4RUNNER 2020-2024

HOOD DEFLECTOR

10.

11.

l/ 3M Anti Abrasion Film Pad

Ensure all (4) metal mounting brackets and clip
bodies are properly aligned and tighten the screws.

Note the orientation of the metal mounting brackets.
Ensure that they are perpendicular to the hood edge
as shown

Assurez-vous que tous les (4) supports de montage
métalliques et corps de clips sont correctement

alignés et serrez les vis.

Note l'orientation des supports de montage
métalliques. Assurez-vous qu'ils sont

perpendiculaires au bord du capot, comme illustré.

Peel and fold the remaining (4) anti-abrasion film
pads in half over the hood edge aligned with the
(4) outer holes in the hood deflector above the
headlamps.

Décollez et pliez les (4) films anti-abrasion
restants en deux sur le bord du capot, alignés avec
les (4) trous extérieurs du déflecteur de capot au-
dessus des phares.

(4) anti-abrasion film pads on the edge of the hood.

Placez les corps des clips avec les doigts sur
chacun des (4) tampons de film anti-abrasion sur
le bord du capot.

/ 12. Place the clip bodies with fingers over each of the

7/

CLIP BODY WITH FINGER

HD 20G20 Rev0.23Nov23 Page 5 of 6



TOYOTA 4RUNNER

2020-2024

HOOD DEFLECTOR

PIN

4

//(( ‘L' BRACKET
-

13. Insert a pin through the hood deflector into each of

Care Instructions / Instructions d'entretien

the (4) clip bodies with fingers.

Insérez une épingle a travers le déflecteur de capot
dans chacun des (4) corps de clip avec les doigts.

. Insert #6 x 5/8” flat head screw through a “L”

bracket and into each of the (4) clip bodies with
fingers
(Insérez la vis a téte plate n° 6 x 5/8" dans un

support en "L" et dans chacun des (4) corps de clip
avec les doigts.

On some vehicles it may be necessary to adjust
the hood bumpers and/or latch for proper
clearance.

Sur certains véhicules, il peut étre nécessaire
d'ajuster les pare-chocs et/ou le loquet du capot
pour obtenir un dégagement approprié.

-Clean the protector with a mild soap and water solution or plastic cleaner only. Do not use

chemicals or solvents.

-Periodically check to make sure the bumpons are in place and the protector is secure.

-Avoid using automatic car washes.

-Do not pull on protector when opening or closing the hood.

-Nettoyez la protection uniquement avec une solution d'eau et de savon doux ou un
nettoyant pour plastique. N'utilisez pas de produits chimiques ni de solvants.

-Vérifiez régulierement que les butées sont bien en place et que la protection est bien fixée.
-Evitez les stations de lavage automatique.
-Ne tirez pas sur la protection pour ouvrir ou fermer le capot.

HD 20G20 Rev(.23Nov23

Page 6 of 6





